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6. Usemultiplication to check your answer. Qg/mng? e ég/é; 6 /

On the Back!
7. Use partial quotientsto divide 936 ¢ 24. Show your work.
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1. Thedividend isthe numberto be divided. The divisor isthe number P
used to divide another number,
divisor
O 1Y isthedividend. / \
/27[ _isthedivisor. 0 840- 24
d|V|dend
2. Theanswer to adivision problem iscalled the quotient. A partial
quotient ispart of the answer to adivision problem.
. Partial quotientscan be _Adtte ). to find the answer to adivision problem. J
3. Acommunity group is setting up 616 chairsin 22 equal rowsfor an
outdoor music event. How many chairs will be in each row?
Use partial quotientsto divide. Think: how many 22sare in 6167
10 X 22 = 220 20
20% 22 = 440 > Ty 20 22[67T6
30 % 22 = 660 - 440
7 176
Multiply 2O by 22 and subtract.
4. Keep dividing. Think: how many 22sare in 1767 g
8% 22=176 s Ty X 22[6T6 o
9% 22 =198 =880 - s
176 e } 4
Multiply .2 by 22 and subtract. - 176 e ;2\‘;(
0
5. Add the partial quotientsto find the answer. o %
;_ o, 8 = Q\g chairsin each row. &
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1. When dividing a 3-digit number by a 2-digit number using place value, ,
you can think of the dividend as a group of tens and a group of ones.
17R14 Dividend: 354 = 3 hundreds, 5 tens, 4 ones
2?;34 Think: You cannot divide 3 by 20 evenly.
154 So, make tens and ones: 354 = 35 tens, Z'IC ones
—140
T4 Now you can divide 35 tens into 20 groups of ten.
35 tens + 20 = 1 ten with 15 tens left over.
Now divide the ones: 154 ones + 20 = 7 ones with
14 left over. So, 354 + 20 = 17R14 J
Y,
2. Divide 30)517.
Write the missing digits in the boxes.
Step 1 Step 2 Step 3 Step 4
Divide the tens. Subtract thetens.  Divide the ones. Subtract the ones.
Bring down the ones. Write the remainder.
30ii 1 7 30)517 30)51 7
2o —30
217
—-210
51 tens =+ 30 groups
30 X 1ten =30tens
217 ones + 30 groups
30 X 7 ones = 210 ones
The quotient of 517 + 30 is [77“7 | R r ¥
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3. Divide 658 = 50. Show your work. ¥
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